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QP Code : 77032
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G)- The equat 4. o
ion of mot: g £L 4
S i isotxon of a body falling under gravity in a \c;\\\/
dv . S8
e el »
gt i S E X
solve this - : : \ :
: > “quation for v if the body starts from rest. R
=2 d Y m;\
(i1) Solve =—AN : '
AN(t) by using the method of sepefg‘ﬁgn of 4 -~
variables. Q4
(B) Attempt any one :— N
.(}) (S}tate DiIiChle.t’s theorem. Explain the Dirichlet’s conditions. 4
(ii) Ct_ thc.e Fourier transforms of first order ¥nd second order 4
derivatives of a function f(x). 2 '
(C) Attempt any one :— ey
(1) Energy difference between two pgr,_f:i”él.e states in a system is 4
3.2 x 107%! J. Calculate temperat@iré of the system when ratio
of the probabilities of the twocsiates is e2,
: 4

(ii) Consider a system of eight spﬁl half particles fixed in uniform
magnetic field B. If p, is }\;nagnetic moment associated with
each particle, find the vz\alﬁus possible macrostates of the system
and statistical weigl}t-j%f each macrostate. Which will be the

most probable mag@p\émte? Explain.

(D) Attempt any one i~ ) : . : =
(i) Calculate the@nodynarmc probability of the most probable

distribution@nd least probable distribution of 1000 identical

particles mhong 200 identical cells. = =
(ii) An enclosure of volume 100 cc is filled with black body

radiation. Calculate the number of modes of vibration in the
waselength range 4000 AU to 4005 AU.
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